A®

/28

Hydraulics

7o F3ULL 51 IRk [ 13

DRE(E)/DREM(E)...3X &!

B 10. 25132
51 3X

[EF3ZE 315 bar
REZE 300 L/min

B® R

IheeiifA. BEE 02 - BFRIREE

HEERS 03 - REEATE DIN24340 D B 1SO 5781
1T 03 - BFRENARIR TR

RASH 04 -4 HESEE

BRBH 04 - REENRIPE (Fik)

fed: o5 05 - BEBE R FIIAER VT-2000 B ( AR IRITER )
TR 06-07

129



02/08 XAMBME | &ETH EEfIREI® | DRE(E)/DREM(E)...30 £

ThEERER. FIEE

DRE/DREM B EERBSLSNRER, EARRR—TRFPHE.

ZIREIEF LGBk (2) RS (1), FEREMN (4) BER (3) MeNERREE (5).

DRE10 BE[EiR

MO ABEAEBFLEAIBHEEKIRES REB X, FIEMNILEIREEE (2) B, WITH, ENHRTEERS (4) M
O B BHAUREIHO A, HRTIEE, MO ANENEIEETIRE (6). (7) M (8) MAESEIEATERS (4)
BOSEEEINELM, FEIER TR EBHAIFIMAIES (10), WIRME A ESEINRAILLHIBHE (2) AL EE,
MRS (10) STAREL G EBHEER (2) BIIFTF. HEDIRIE (10) WIESKAESHREMO A, X, HREINFiE
FIIERRS (10) RO Y, REHFE. FTREIRS 4) L=EER, TROBHENEFUE, HEFEH
HAHRBENEE. SthflB#sk 2) fAEE—H. MRHBOAREAASUERL (4) XH, DERRE
27 (9) MmO Y ALURAHE. MRFE, AIUR—2EE (5) LAHMED A EHA B BIR @ B HRE.

DRE20 #1 DRE30 & Ri[EiE

R FIbiEAIThEES DRELO @B, TSt HEIEHITL (9) MmO B Hith, EXFRELE, —MEEREEH
i (11) LS (1) B, UELSHER. B0 A PREHEFP (12) BEERE Q=0 8/, B0 ANEHTS.
DREM B i@

MRBE, AFARSENRP, ENEEMFNETERIR (13), URIPRARELFIBRE LNSEBE
RIS | RHNSEBE.

DRE(M)E B [EHi#TiR

BRIAARRIN, 252K R R IHEEIR TS5 DRE. DREME B R B AN — B, IRASIL T 5544 (14) Hrid@id i N Uik (15) 12U
HR51E%,

\\ T 1 \\ L
_ " _
7 = 13 =
4
8 1 7 4 8 <
3 N ﬁ; ) s 9 \\ 3
9 | ! 12 ‘
‘ 5
6 A BY EhFED
V AV 6 A B Y
DREM10%! v AV

DRE20% DRE30%

DRE..-30/.Y DRE..-30/.YM DRE(M)E...B!
HEERE MR HRERAS

130



L BRI | DRE(E)/DREM(E)...30 A WETTH | RAiE 03/08

MEETTS
10 10 10 10
DRE20-30/...YM DREM20-30/...YM DRE20-30/...Y DREM20-30/...Y
30 30 30 30
DRE CN10-30/...Y DREM CN 10-30/...Y
DRE CN30-30/...Y DREM CN 30-30/...Y A A
A A > >
‘Fj | S ——\ ——\
. il 1
| i Y
B W Bl v 8l vyl Bl v
Y Y
precN30.. premcN 30
H L H L
X X
1T 531K85
I
o] | | | qwofeg [v] Jeu] | | |*]
REEHRIP=FATIE | RUER XA
HEHDRP = M % = ABRRER
— 2 = THNRRES
£SUHER = FARa AITiE = THBREH
10 @RESR 18£8 (RATFDRE...E)
(FIPRImER)  =CN AL = EEEES 0-10V
10382 NI EL BRI E iR — EAAIES
(*ﬁ?ﬂﬂﬁ?é) =CN10 F1 = EE/m.g—_;Elv 4-20mA
20,30:BR TR
(RIRER@ERR) =CH BREE
20BN L FIRER T DRE
UF9BEE)  =CH20 "
SOBRIBENT L OIHER Ka = WEEDINEN
(FFERER) =CH30 175301-803k9#ERE
FFDRE...E
SPETIAR =T K31= HRADINEN
SEMBARS =E 175201-804HI4E B
#BE 10 =10
BE 20 =20 G24= 24V EREIR
B 30 =30
_ FARIE = HER AR
30551 o =30 M= ey
(30 = 39 R7I: REMEZERTHEE)
IERRBRERA =B Y= FEEI MM
EHER
Z 50 bar =50
Z 100 bar =100
Z 200 bar =200
ZF 315 bar =315

131



04/08 RABE | BETH

LEGIREER | DRE(E)/DREM(E)...30 £

BASH
THEAE EJ:%‘IE - ERTTIERREAGRE
) BEAES - SR T RSB RE L
. . 30 & +80 (THEIBREE)
TN R CE ¢ 20 E 180 (ISEREH)
HEESEE mm?/s | 2.8 380
SRS RE | SRR S REZRIE NASL638 9 A0 1S04406 20/18/15 4%
- SBOA, B |bar 315
A LD SO Y FEEa
BEEEESH BOA  [bar 50; 100; 200; 315
=RIEEES HOA 5QFX, Nitkeemsk
EEHERTHOANED = RIRIEEES (I MEEErhLR )
REEH BEENRIPTIIREEIEE
50 bar 10-60"% bar
REENRP (ZRBAT) 100 bar 10-120'% bar
200 bar 10-220" bar
315 bar 10-340" bar
YEEESH =50 bar, 7£ 60~80 bar Zja]
N N LEEESH =100 bar, 7E 120~140 bar Zja
e L EE K =200 bar, 7 220~240 bar Z [d]
YEEES N =315 bar, 7E 340~360 bar Zja]
EE 10 25 32
sARE L/min 80 200 300
S (XETR ) L/min 0.7E2
SHMEE +3.5%
EERE <+2%
[ ToEHR
TRIR +2.5% Pmax
(ﬁm%gowi, #5118 200mAss) +4.5% Pmax
I GOIE] 100 % 300ms ( 5RZEX)
B8
R B
=TT mA 100
RAEH R mA 800
ALl 19.5Q0 £ 20°CF; SAASE: 28.8Q
TERES ELE
REERE +50°C
BREE $H3k3#% DIN EN 175301-803/1SO 4400
445#% DIN40050 IP 65
ShEMASE (3FDRE...) VT-2000BS40(FFcsz%8), VT-2000BK40

132



LbBUREIR | DRE(E)/DREM(E)...30 2 WETTH | XAkE 05/08

MERERhZE (1EfER HLP46, t=40°C £5°CBNG )

HMOAEASRE HOAENSRE
p 300 DR’IE‘]O p 300 I
= 250 5 250 ggg%
2 200 £ 200
R
B 150 B 150
= 100 = 100
2 50 & 50
0 20 40 60 80 0011 510 50 100 200 300
A (L/min)— & (L/min)—
8 OAES 5AOBES
1 100 —
3 6 L 50
R N 3
H A IRN N = 60
] \\ E
X 2 = 40
&
& I g 2 S
o %0 :QEOO(L/ 1.50) %200 250 300 0 5 10 15 20 25 30 35
sws min HOBES (bar)—
2 5 1) MAZI BRI EFE 1
- ]
100 DRE20 < 0.6 DRE20
80 } £ =3 ===
/D‘REi;O = 04 S DRE30
L e iy W *
5 bRE10 | | A g 5= ANIRN
£ 40 A e 0.2 \ N
iﬂ}j L~ LA op I|
H 20 // e * DRE10
T+ 1 0 50 100 150 200 250 300
0 50 100 150 200 250 300 & (L/min) -
e (L/min) = --—- =20bar AP DRE10
—— =100bar AP DRE10
DRE10.20F1308!ACIE /1 /4R N B3R —-— =20bar #1 100bar AP DRE20/30
50 T T 100 T T
45 [ EEN 2 0 WEEN 77| DRE10.207130%!
% 40 |- 50bar y/ 1 80} 100bar EMAZIBIE
= 35 //'/ S 70 A6L/min TS
= 30 Y/ /4 S 60
E 25 y//a R 50
< 20 A %:‘! 40
3 15[ RE R
10 £ 20
5 T 10 {
0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800
BN (mA) HINETR(MA)
200 L — 1 #F
180 |- g S 300 BHE ——
1 160} 2000ar £ 1 250} BEED | wer ——
<140 V74 5 315bar P4
38120 V77, £ 200 74
= '/ ’
100 W/ b ya7; st TiEEE
i) y/ 14 150 77 FATRIR
Eed e /i & 10| 5 y.Yi RIGREES,
0 6of : £ & A //' FSERTEE
B 40 50 F100mA
20 !
0 100 200 300 400 500 600 700 800 0 100 200 300 400 500 600 700 800
AR (mMA) HNEBTR(MA)

133



06/08 RABE | RETH

TR

15
N

H1
H2

CHE

| 2

w

H4

M1

O 0 N o u»

B1
B2

B3

/T/EHL 3

JAan\wi

REELRET :

12 GB/T70.1-10.9 ZA7<FAIRET
DRE10: M10X50; DRE20: M10X60
DRE30: M10X70 #T&#H%E M,=75Nm

WRERENER

bR | DRE(E)/DREM(E)...30 £

(R84 mm)

BT OESE, BITEEE,
F SRV MIMNBTEELHE
BT EKFRR =R

REENREP (X TFIRENRAEREETRE)
SO X FAF DREL0 &1%;

DRE20 #1 DRE30 LEAFKEO
REUTH

Rhe

S SR MM E B hAE
51

B EERETFL

4 4> (DRE10. DRE20)

6 1 (DRE30)

4(6)xM10;25

TR REARLFL
N

D7;6
TEfIFHFL

BF | Bl B2 | B3 | B4 | B5 OB (GO AL B) OFE (RO X. Y) D H4
10 85 50 |66.7|58.8] 7.9 17.12X2.62 9.25X1.78 13 188
25 | 102 | 59.5 |794| 73 | 64 28.17X3.53 9.25X1.78 22 198
32 [ 120 | 76 ]96.8|92.8] 3.8 34.52X3.53 9.25X1.78 30 206

BF | L L2 L3 | 14 | L5] L6 L7 L8 | L9 |L10] H1 H2 H3 g
10 | 181 | 35,5 | 96 |42.9|215| - 72 1215|318 |358|152| 136.5 28 5.2kg
25 | 177 | 33,5 | 112 160.339.7| - | 11.1|20.6]|44.5/49.2|162| 146.5 38 6.3kg
32 [176.5] 28 | 140 |84.2159.5/42.1| 16.7 | 24.6|62.7 |67.5|170| 154.5 46 8.6kg

134



LbBUREI® | DRE(E)/DREMI(E)...30 2

R
AR
M14x1.5 o
G1/4 R
/ D23;1 \3
T 7 =
I ,71!%%,,,,,7,*,, =
-7 -
&I o T
NS

ThE

A wWN -

RETH | RARE

(R84 mm)

(Y O) EShESMIMERERHTE
B RSk R Y=
REENRE

( XFURBIR A R EiEER )

EEBETFL

W oo~ o !,

TR S

O 2B 9.25X 1.78

O AZFE 28X2.65
O /B 28X 1.8

10 #4F 28.4X32X%0.8
11 O FZE 27.3X2.4

12 EREER

175 El,
8 51 B O FEBRZZENLLFL
E B 13 DREC10 EHYT7Ras, HMBMELT;
4 g HE SR EEERGMTRES
B3y e - - - S| R 42 2= 2
N Yi A‘/ 14 TEEER D2 JERARASHER
& T D3 188, EXFUEEHOMAER
g —_ BT ESAE
2, 4084, 15 DRE CH20 #1 DRE CH30 5 S5h&
16 DRE CH10 B95c&5miEg
J@f% | D1 | D2 | D3 FRSBRITERKS R EEIRET ITEHE | 22
10 | 10 | 40 | 10 306 727 306728
44 M8X40 R7NFAIRET
25 | 20 | 45 | 20 306 729 306 730 6B/T70.1-10.9 4 20Nm 3kg
32 | 30 | 45 | 30 | (THEBKRZES) | (#IBKEL) ’ ’
|z [Z7[0.01/100mm]
29+0.2 ‘26102
CDPZ ©
@_ | |®32H7("5%%%)
= WREREHIER
@ || ©28.5(3)
28 Q& ‘ " P4 N y4
N |12 51
15’®>BT ‘%(IS\:DY A 0 % 5ol38 o] AxMe12
C2! : i © o |9 6 ]
ez Ny ] ~a (=] +H| 0 .o
16— | % ﬁ/‘/ ?‘f"lex AR E /3.2 N /// ~D
L \
R0.3ma:é 77 | oA & / (. \{y%:;
91 1,& | X \\ /
18 i " %f \‘*'/Q/)
13 M46 ©24.8%92 61
®D1

135

07/08



08/08 RAME | RETH

136

LeBIREE | DRE(E)/DREM(E)...30 2



